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Ratio to LHCB

=
o

T

0.5

7000 GeV pp Soft QCD

L L L O Y L O B BN B i )
43
— PT(p (2.44 <y < 4.06) 3
=
— —
— = To)
— =N
— e
- —
- |
0: [ 2
- ’ n _:EE

= \EI 0: n ]

- \\S\ ’. —

- \S\ : —
H. = )
- - oy o
— - = fap)
— B, . i
— R W 10
B ' 13
=R =
B i 1=
| m  LHCB e
= . N 0<
= --f3-- Herwig 7.2.0 default - g
I ¢ Sherpa 1.3.0 default e 1g
B 9
B 8
o
| (&)
SN T I DD D
— 42

== S
...... - 1

A i

L e _

[ ”
n *g. i
A\ L ¢ ¢
| —0.5
A I T T T T N T T T | T S T | T S T |

1000 2000 3000 4000 5000

p_Fr’hi [MeV]



	Contents
	Page 1


